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3. Solve the function. t7]
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4. What are the other names for the solutions? Graph them.

Xint., Zeros, roots
5. Find the y intercept and graph it.

f(0)= % (04224

6. Give its domain 7. Give its range ’1"

(-o5,0) (3, 00)

8. Turn it into standar

(X +2)%-9
L7.,2
3(’f +ix+ ) -9

0. You have designed a new style of sports bikes and want to figure out what price to sell them
at as well as your maximum profit. The profit can be modeled by the function

— _200(s —230)* + 2]80000where P is profit and s is selling price.

a. What is your maximum Br%ﬁt? :;’;":}(zao) M $ 27‘ m
%230

rice gives you the maximum profit?
XPpory vVertex T
c. What selling price(s) will give you no profit? (¢o on your own paper) o
P(a)=0 S'§33q,'~lo 3%3125.50
4 What selling price(s) will give you a profit of $1,000,&00? (do on your own paper)

P(3) = 1000000 ¥300.8 or $|%3.19

e. Whatis P((_)‘and what does thii represent in the context of the situation?

The s (0) = - 200 (0 -230) 5+ 2180000
Sont. “ipont T AT e

~ What sellin
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B. Standard Form

Use the following quadratic
J(X) = 2x2 4+ 12x + 13

l. Find the y-intercept. € (_0] '3)

2. Find the axis of
Xeh xeogg
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4. Is the vertex a gnax or min?

4 QN

>7)

urn it mto vertex form.

3“‘ Flxtalzy 43
- '2(! ¥(oyeq )*\3-3&3)

"‘1
Ripken hit a pop up above home plate. The hei ght of the ball, A, in feet is related
to time, f, in seconds described by the function h(f) = -16¢* +64¢ + 2.

a. At what height was the ball when he hit 12 .
et wint <7 g pt

b. How long does an infielder have to get under the ball before it hits the ground? (Doono

Mdld the ball go? (do on own ai)fr m h(t =0 k
W VQ Y b LD H

8 Solve the following using completing the square: 3x — 15 = x° + 9x —

paper)

03

Y

2. Explain what your answer means

\ € int, parabolo. ‘Huj
dm 7l
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